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Abstract

This paper studies a continuous-time model of consumption and investment with
a utility function where wealth enters as an argument. The stochastic maximum
principle is used to obtain a solution and compared with a newly formulated mar-
tingale method. A concrete solution is obtained by a discrete time approximation.
An agent with such a utility function typically exhibits decreasing marginal propen-
sity to consume and an increasing marginal propensity to invest in the risky assets
consistent with empirical evidence.

1 Introduction

A century ago Max Weber argued that the spirit of capitalism had lied in striving for
accumulating wealth for its own sake, not for pleasure of consumption which the wealth
could bring about [I, 10, 2]. Recently, Carroll adopted the idea and proposed a model in
which wealth enters consumers’ utility functions directly [5]. He used the utility functions
to explain the seemingly puzzling behaviour of the rich: their savings had been large [3, 7]
and their investments in the risky assets had been also large despite the fact that most of
them had embraced un-diversifiable risks in the form of ownership of proprietorship [(].
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Note that there are several models in the literatures about the explanation for wealth
accumulation: the Life Cycle model, the Dynastic model, and the Joy of Giving model.
Roughly speaking, the Life Cycle model says that people accumulates the wealth to finance
the future consumption. Even though the pursuit of consumption may be a fundamental
need for human being, assuming that is for necessary goods, this was empirically shown
not to be a main reason for some people who has large wealth, the rich. A possible
alternative is the Dynastic model, which says the wealth is pursued for the inheritance
to his descendants. However, this model is also poor with empirical evidence. On the
other hand, the Joy of Giving model directly introduces a utility from wealth. Carroll[5]
presents a simple two period example to reason the Joy of Giving model.

The purpose of this paper is to investigate an optimal consumption and investment
strategies of an economic agent with “the capitalist spirit,” that is, with a utility function
as proposed by Carroll. Such an agent typically exhibits decreasing marginal propensity to
consume(MPC) and increasing marginal propensity to invest in the risky assets(MPIR)
consistent with empirical evidence. Moreover, the maximum principle, different from
the dynamic programming method ordinarily employed in the study of consumption and
portfolio selection problems, has good prospects for applicability to similar problems.

Max Weber’s explanation of the capitalist spirit was religions, claiming that the ascetic
nature of protestantism was the driving force of the capitalism: a religious individual
abstained from earthly pleasures but pursued wealth in an effort to ascertain his/her
salvation. A secular and perhaps more reasonable explanation can be provided by a
motive derived from “social interaction” as proposed by Becker [3]: recognition from
others in social interaction was an important objective of human pursuit. Wealth is an
important factor in social recognition and thus can enter into human utility functions.
Of course, one can argue that social recognition is derived from gifts and other altruistic
activities for which wealth can be used as a tool not from wealth per se and thus a utility
function where wealth enters directly is only a reduced form derived from a fundamental
utility function which has gifts, beneficent activities, and etc. as arguments. One cannot,
however, deny that social recognition is attached to large wealth itself independent of good
deeds of the person who owns it. Thus, a utility function with wealth as an argument is
one natural representation of a human preference which strives for social recognition in a
society where such recognition is automatically given to a person with large wealth.

So the agent’s problem is to choose an optimal portfolio rule which maximizes his
utility of terminal wealth, that of consumption, and that of wealth such as

T
m%xE {e‘BTM (Wr) —i—/ e P U (O, Wy) ds| . (1.1)
i 0

The wealth utility can be directly interpreted as the happiness of the wealth itself which
stems from the social recognition in the social rank. The difference between the Carroll’s
model and the one here is that we consider the running utility of wealth during the
lifetime, which makes an economically intriguing problem.

We approach this problem by Stochastic Mazimum Principle(SMP) and a Martingale
Method. As we shall see in the following section, the SMP gives a coupled Forward-
Backward Stochastic Differential Equation(FBSDE) to get the optimal solutions, which
consists of the wealth dynamics and its adjoint process. We also proposes a Martingale



method which is an alternative approach to solve the problem by using the Lagrangian
method.

For the numerical example, we examine multi-period models by using the binomial
tree model. We solve the problem numerically for both finite horizon and infinite horizon
by discrete time approximation. We use the CRRA(Constant Relative Risk Aversion)
utility function for consumption and the HARA (Hyperbolic Absolute Risk Aversion) util-
ity function for wealth. We compare the optimal solutions with Merton problem as a
benchmark.

In section two, we formulate the problem by using SMP and derive the optimality
conditions. In section three, we propose a Martingale method and shows that the two
methods are equivalent. Plus, we reason the economic meaning for a new budget con-
straint. We also approach the problem by the binomial tree model and show the optimality
conditions in discrete time. In section four, we present multi-period numerical examples
for both finite horizon problem and infinite horizon problem. The final section is the
conclusion.

2 Stochastic Maximum Principle

A robust framework to solve an optimal control problem is Stochastic Maximum Prin-
ciple(SMP). In this section, we formulate the problem by using a SMP.

The financial market consists of one riskless asset and NNV risky assets. The price Sy(t)
of the riskless asset evolves as follows:

dSo(t)
So(t)

where 7(t) is the instantancous riskfree rate. The vector S(t) = (Si(t),...,Sn(t)) of
prices of N risky assets evolves as

ds(t

Tsf)) = p(t)dt + o(t)dB(t), S(0) = sg (2.3)
where p(t) is an N-vector, o(t) is an N x M matrix, B(t) is an N-dimensional standard
Brownian motion defined on a filtered probability space (2, F, P). We assume filtration
F is generated by B(t) and augmented by null sets. In (2.3), a symbol * denotes the
transpose of a matrix and the fraction of vectors means componentwise operation, that

dé:q(%) = (dgl((t’;), e dSS ]i"((tt))) . We assume that processes r, u, and o are adapted to

filtration F. We will assume that the o is invertible, that is, the financial market is
complete.

Now we apply a stochastic maximum principle. The maximum principal was originally
developed by Pontriagyn and Boltyanskii for the deterministic case. Here we use Bismut’s
generalization of the principle to a stochastic case [1].

Let us introduce an economic agent who lives for a period [0, T]. The cost functional
is stated as follows.

— r(t)dt,  So(0) = s (2.2)

is,

J(r,C)=E {e‘ﬁTM (Wr) + / ' e P (Cy, W) dt (2.4)
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where 5 > 0 is the agent’s subjective discount rate. The system dynamics of wealth is

th = [TtWt + ﬂ-t(/Jt — ’f’t) — Ct] dt + 7Tt0'tdBt (2 5)
Wo = Wwyp. '
Then the adjoint process of the dynamics is
{ dpy = — [Ttpt + iﬁtUW(Ut,Wt)} dt — 0ypyd By (2.6)
pr = e T My (Wr), '

which can be expressed in an integral from such as

T T
bt = 6_/811]\41/17(WT) + / [Ttpt + e_ﬂ(s_t)UW<€s>Ws)} ds — / quBS
t t

where
0, = o (e — 1)

4

and ¢s = —6;p, for t € [0,T]. Here 1 is the N-vector of 1’s, and 6, is the market price of
risk.
The Hamultonian is

H(t,W,m,C;p,q) £ p(rW + (. — )7 — C) + qoym + e P'U(C, W), (2.7)

Then the mazimum conditions are the following.

Hﬂ- T = . W—ﬁt
maX<( HC' ) (t7 Wtaﬂ-taotapt?(h)? < C _6t )>R2 2 07 (28>

which imply

Hﬂ(tuwbﬁh?t;ptu @) = pi(pe — 1) + oy =0
Hc(t, W, w0, Ct; pes Qt) = P+ efﬁtUC(Cta Wt) =0.

Therefore, o
67'826[]0(015, Wt) = Pt.

Hence we have to solve a coupled Forward-Backward Stochastic Differential Equa-
tion(FBSDE) which consists of the equation (2.5) and (2.6) to get the optimal solution.
Note that the Merton problem gives a decoupled FBSDE which can be solved indepen-
dently with each other. On the other hand, solving the coupled FBSDE can be an in-
dependent work beyond the scope of this study. However, we can try another approach
which is fundamentally equivalent with the SMP to solve the problem. If we find a solution
form for the adjoint equation, we get

p(t) _ p(O)G_ fot [r(s)+%0(s)2]ds+f0t 0(s)dB(s)

t
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Let y(t) = €%p(t). Then,

d(y(t)) = Be’'p(t)dt + eﬁtdp( t)
= BeP'p(t)dt — P (r(t)p(t) + e P U )dt — e”'0(t)p(t)dB(t)
= (B—r(t))e” ( )dt — Uydt — eP'p(t)0(t)dB(t)
= (y(t)(B—r(t) — Uw)dt —y(t)0(t)dB(t)

w0,

() = 900 - [ gl

u (2.9)
where

g(t) A - fo[ ]dT+fO 0(T)dB(T )
Thus

Uc(at,Wt) = Y. (210)

We will show that this makes the SMP approach for this problem equivalent to a Mar-
tingale approach so that we can solve the problem by using the Lagrangian method.

3 A Martingale Approach

In this section, we propose a Martingale method to solve the problem, and then we
get the optimality conditions for multi-period problems by discrete time approximation.

We now provide a modification of the martingale approach which has the same final
result as the maximum condition explained in the previous section. The necessary modifi-
cation is to consider a constraint for each wealth chosen. Since wealth is a choice variable
for each time and state, the number of constraints is uncountable. We introduce it in an
integral form in the following Lagrangian:

L = E{/Oooe_ﬁtU(C(t),W(t))dt+>\{W(O)—/Ooog(t)O(t)dt} (3.11)

= [Tt oo - [T eoces] i

in case of no bequest utility. Note that we put a minus sign before n(¢), the Lagrange
multiplier of the last constraint in the Lagrangian. The reason for this choice is to make the
multiplier positive as explained below. Then the optimality conditions are the following.

UelCO.W(0) = e~ [ () du

= £(t)e™ {)\—/Otn(u)du]

Uw(C(6), W(t) = n(t)e™&(t)



1
Son(t) = e P—Uw (C(t), W(t)).
(t) 0 w(C(t), W(t))
Note that Uy (C(t), W (t)) > 0. Thus, the minus sign before 7(t) is justified.
t efﬁu

o &(u)

Note that the equation (2.10) and (3.12) shows the same result. Hence the SMP and the
Martingale approach are equivalent here.
Note that we have an additional constraint for this problem such that

Uac(C(t), W(t)) = (1) [)\ . U (C (), W (u))du| . (3.12)

I /t T es)C(s)ds = EOW ). (3.13)

The equation (3.13) is different with the traditional budget constraint such that the
initial wealth is bounded below by the value of the future consumption bundle. The new
constraint says that the value of the future consumption bundle has to be bounded below
by some current wealth level at each time. This constraint naturally occurs because now
the agent needs to consider the utility of consumption and that of wealth at each time
through his lifetime. We dig the explanation more with a two period model.

3.1 A Two Period Model

Here we consider a two-period model of the problem stated previously. It is a binomial
model popular in option pricing. There are two time periods, 0 and 1, and two assets, a
riskless asset and a risky asset. One dollar invested in the riskless asset at time 0 gives a
return equal to R = 1+ r at time 1 for » > 0. The same one dollar invested in the risky
asset at time 0 generates a return equal either to u or d at time 1, where u > R > d > 0.
Thus there exist two states of the world according to the return of the risky asset at time
1. By a slight abuse of notation we will denote the state in which the risky asset’s return
is u(d) by u(d).

For simplicity of exposition we assume the following separable form of the felicity
function:

In a two period model, we have

W, At = C,At + WeAt

WOAt:COAt+WOAt< WAt — Gt 1 TWAAT

where subscript u(d) means consumption or wealth in state u(d) and superscript a denotes
wealth after consumption. For the discrete time model, we have to explicitly distinguish
the given wealth, the wealth before consumption, and the optimal wealth, the wealth
after consumption. The difference vanishes as the time goes to continuous time. Then
the agent’s problem is to

max U(Co)At + V(WO AL+ BE[U(CL) + V(W) At

C0,Cu,Ca, W& W W



subject to

W()At = C()At + Wugu(CuAt + WgAt) + Wdfd(CdAt + WgAt)
W(?At = Wugu(CuAt + WgAt) + Wdfd(CdAt + W;At)

where the state price densities are

_ P _ P
fu - Rﬂ'u gd Rﬂ'd
and the risk-neutral probabilities are
_R—d _u—R
pu_u_d pd—u_d-

Define the Lagrangian as
L = U(Co)At+ V(WAL + BE[U(CY) + V(W] At
+FA{WoAt — CoAt — 1,6, (Cy + Wi )AL — 4€q(Cq + WT) AL}
—No At {AWG — mu&u(Coy + WAL — m€(Cy + Wi )AL} .
The first order conditions(FOCs) are the following.
Co = Uc(Co)At = At
Cy : Uc(Cy)At = 22 (X —nyAt) At

Cd . Uc(ﬁd)At = % ()\ — UOAt) At

We o Vg (W) At = oAt
we - VW(WZ)At_%(A—nOAt)At

W+ Vi (WAt = % (A — moAAt) At.

Therefore,
Uc(C,) = Vie(W,)
Uc(Ca) = Vie(Wy).

Note that 79 = Viy(W,) > 0. Thus, the minus sign before 7 is justified. The fact
1o > 0 is puzzling since it implies the constraint in inequality should be written as

W(? < wugu(CquWj) +7Td§d(0d—|—W;). (315)

After a thought, however, the meaning is clear. When the agent chooses W', wealth after
consumption which contributes to his utility because of the prestige or social recognition
it generates, by sacrificing current consumption, he essentially commits to have more
consumption and wealth in the future. Thus, the choice of wealth implies a lower bound



for the present value of future consumption and wealth, not an upper bound. This is a
special feature of the problem.

Note that there is an intertemporal linkage of choices. The period one consumption
is dependent on the choice of period 0 not through period 1 wealth alone, but through
its effect on its marginal utility. That is ny enters in the calculation of marginal utility of
consumption at time 1. This makes the problem non-Markovian and makes an ordinary
dynamic programming method inapplicable.

Let us fix the marginal utility of consumption at period 0, A > 0, then the fundamental
pricing equation in the binomial model gives

5 [CulmNADAL TN AOAL + 5 [Calm(NANAL + Wa(m(NADA] = AL
= Viy {%‘ [Cu(mo(NAL) + T (no(\)AL)] + % [Calno(\)AL) + Wy(mo(M)Ab)] } = Viw(Wy)

= 1o (3.16)

in the absence of the arbitrage opportunity. Assume for now that the existence of a unique
solution to the equation and denote it by 79(\). Then,

C, = U;' (%‘ (/\—no(/\)At))

Cu = U5 (0= mnan)

5
W= vt (S0 mivan)
Wi = vt (S0 man).

Since WyAt = CyAt + WgAt, we can find the initial wealth given A such that
= WoAt = Uz (VAL + Vi (no (V) At) At £ Wo(\)At.

Thus, W) is expressed as a function of A. Under inada conditions we can show that Wy(\)
is one to one and from the set R™" of positive real numbers onto itself. Let us denote the
inverse function as A(Wp). We now give a solution to the original problem. For a given
W, the first order conditions provide optimal choices.

If there is a bequest function, M(-), the agent’s problem is to

oo UGV (WE)AL+ BEUC) + V(W) + M(W)] At

subject to

WoAt = CoAt 4+ 1,8, (Cy + W) At + ma&q(Cq + W3) At
WAt = m,&,(Cy + WAL+ ma€a(Cy + W) At.
Let us define F(W&) = V(W¢&) + M(W®). Then the Lagrangian is
L = U(Co)At+ V(WAL + BE[U(CY) + F(W)] At
FA{Wo — Co — Tuu(Cu + W) — mala(Ca + We) } At
=oAL {Wy — mu&u(Cu + W) At — ma§a(Ca + W) At}

8



Then the FOCs are
Co : Uc(Co)At = At

Cy : Uc(C,)At = % (A — noAt) At
Cy : Uc(Cy)At = % (A — moAt) At
We © Vie(Wo)At = oAt

We : Fy(W,)At = %‘ (A — noAAt) At
W o Fy(Wy)At = % (A — noAt) At

Therefore,

el =54

Uc(Cu) = Fw(W,)
Uc(Cy) = Fw(W),).

Fix A > 0,

R

R

Du Cu(mo) +WZ(770)] At + % [Calmo) "‘WZ(UO)} At

() + Wom)] + 25 [Caln) + W) )

Given A > 0, let us denote the solution of (3.17) by n9(A). Then,

Cu = vz (S0 mi)

Since WoAt = CoAt + W At,

WoAt

Vir(Wo) =mo. (3.17)

= WoAt = Uz (VAL + Vg (o (V) At 2 Wo(\)At.

Therefore, we have essentially the same result as the case of no bequest utility.

3.2 A Three Period Model

In a three period model, we have

WoAt = CoAt + WA <

9

W,At = C,At + WAt <

WaAt = CyAt + WEAL <

WAt = CuuAt + W2 AL
WAt = CugAt + W3, AL
WAt = Ca At + W8 At
WaaAt = CagAt + WAL,



The agent’s problem is to

oo S e e U (COALHV (WAL SE U (C) + V(W) At+2E [U(Cy) + V(W3] At
subject to
WoAt = CoAt + 1, & CuAt + Ta€aCaAt + Tyu&uu(Crun + Wo )AL+ - - -
+7Tdu§du(cdu —+ Wgu)At + deédd(OddAt + ng)At
WyAt = wufu(C’u + W{f)At + Wdfd(Cd + Wj‘)At + Tunbuu (C’uu + iju) At +---
+Taulau(Cau + Wi ) At + Taa€aa(Caa + Wiiy) At
EWIAL = m.&u (Cuu + Wju) At + 7460 (Cud + qfd) At
deC(llAt = 7Tu€du (Cdu + W;u) At + 7Td£dd (Cdd + W;d) At

The Lagrangian is

L = {U(Co)+ V(W) +BEUC,) + V(WD) + B2E[U(Cy) + V(W3] } At
+AAL [Wo — Co — mu&uCu — Ta€aCa — Tuuuu(Cuu + Wi,) — -+ — Taa€aa(Caa + Wiy)]
—noAt (W — mu&u(Cu + WAL — mala(Cq + Wi )AL
— T (Cuu + Wi )AL — -+ - — Ta€aq(Caa + Wiy) At

_Wun?At [SuW; - 7Tufuu (Cuu + Wgu) At — 7ngud (Oud + ;le) At]
—WdT]ilAt [de; — mfdu (Cdu + Wgu) At - Wdfdd (Cdd + W;d) At] .
Then the FOCs are as follows.

(

Co Uc(Co)At = MAt
Cu Uo(C)At = & (X —noAt) At
Cy Uc(Cy)At = % (A — noAt) At
Cuw : Uc(Cu)At = S (X —nyAt — giAt) At
Cud Uc(Cug) At = % (A — moAt — guAt) At
Cuu Uc(Can)At = S (A= noAt — nf At) At
Caa + Uc(Cua)At (A — oAt — nfAL) At
wg Vie(Wo)At = noAt
We o Vw(W)AE = & (—noAt +nt) At
We o V(WyAt S (—noAt +1f) At
We, o Vie(Wo At = S (X — oAt — ntAt) At
ng VW (Wzd)At % (/\ - UQAt — U%At) At
We, © Ve (Wy,)At %—5‘ (A — oAt — niAt) At
| Wi+ Ve (WagAt = S (A — oAt — nf At) At
Fix A > 0, then
Wit = B [T, () + Voo, m)) At + 22 [Calm) + Wi, )] At
W, At = % [Cun (0, m}) + W o (0, m})] At + % [Cua (0, 1) + Woa(no, i) At
Wiat = B (G, ) + Wm0, n)] A+ 58 [Coatm, ) + Wiy, At

10



Thus we have three unknown functionals 7, 7%, and n{ and three equations to solve given
A. Note that the FOCs imply that

vie {2 [zt (5 0= m080)) + 5 (5 s+ aton) )|

5

+ % [Uc_l (% (A~ no(A)Aﬂ) hw (gﬂd = nO(A)Aan(A))H}

=To

VW{ 72" (G - mvar—nr0a) 4 (B - movat—ninan )|
# 2ot (S 0= mae - 080 ) + it (S 0= mar - atnan)| |
= gu

= (=noAt +ny)

B
Vi {% [Uc‘l <§ﬂ (A = no(A)AE — nf(A)At)) + Vg (fd“ (A = no(A)AE — nf(x)m))}

B2 B2
+ % [Ucl (% (A= no(A\) AL — nl(A)At)) + Vi (%j (A = mo(N)AL — nf(A)At))} }
=St ).
o}
3.3 A Four Period Model
Similarly,
L = {U(Co)+V(W§)+---+BEU(Cs) + V(WS)]} At
+)\At {WO - CO - 7Tuguc(u - Truuguucuu - 71-uuuguuu(C(uuu + W{fuu) - ded(cddd + ngd)}
_nOAt {W(Sl - 71—ugu(C’u + Ws)At - 71—uuu&uLu(Cvuuu + Wsuu)At - = dedgddd(cddd + Wgtlldd)At}
*ﬂ—un’fAt {guwg - ’/Tué-uu (Cuu + W:Llu) At —--- — degudd(cudd + Wudd>At}
—man At {&aW§ — muau (Cau + Wi,) At — -+ — Tgabada(Caaa + Wiia) At}

— Ty At {EuuWiy, — Tubuun (Cunwu + Wityy) At — Ta€uud (Cuna + Wiyg) At}
_Wud772 ‘At {fuqud TuSudu (Cudu + ngu) At — mqéudd (Cudd + Wudd) At}
fmwz"At {€auWan — Tuéauu (Cauu + W) At — Taaud (Caud + Waua) At}
—maan At {€aaW iy — Tubaau (Cadu + Wiz,) At — Tabaaa (Caaa + Wiga) At}

11



The optimality conditions are the following.

([ CoAt = Uyt ()\)

C,At = %‘()\ noAt) ) At

CuAt = UC ()\ nAt)) At

Cult = Ug' (5% (A —noAt —niAt) ) At

Cut = Uc ()\ noAt — niAt) ) At

CunAt = UG' 5““” (X — oAt — niAt — n¥uAt) ) At
CuudAt = UCIE 4 (X — noAt — ntAt — nduAt) ) At
WSAt = Vii' (o) At

WAt = Vi (% (- noAt+n1)> At

WAt = Vi (% (- noAt—Hh))At

WAt = V! S (—moAt — I At + 13 )) At
Wolt = Vi (5 (—moAt — nf At + ny )) At

Wo WAt = Vit (fwe (X — oAt — At — ““At)) At
WAt = Vit (St (X — oAt — ntAt — ““At)) At

\

The pricing formula gives
WAt = Lo [C,+ ] A+ 20, + ;] At

W.At = & [Cuu + Wy, At + % [Cuua + W] At

WiAt = % Cou + W5 ] At + 22 Dd +T5,] At
WAt = 28 [Coun+ T, At+ 2 [Cua + W] At
Wi At = %‘ i+ W] At 4 24 [_udd + Woga] At
WAt = % du + W] A+ 24 2 [Cuua + W] A
WAt = % ddu + Wag,] At +Ld [Cddd + Wigaa] At

12



3.4 An Infinite Horizon Model

In infinite horizon, we assume the steady states which implies the “time homogeneous”
situation. We approximates this problem with a two period model such that

Wu(t+ At) = Cu(t + At)At + W (t + At)

W(t) = C(H) At + W(1) < Wa(t + At) = Cylt + AL)AL + Wt + AL).

Note that now the wealth is in sense of stock. Then the pricing equation becomes

Viy {% [Ugl (% (A — n()\)At)) At + Vi (n (% (=1 A)At)))]

#% [Ugl (% (A — n()\)At)) At + V! (77 (% (A —=n( A)At)))} } =1,

Another difference with the two period model in finite horizon is that the arguments for
the second period wealth utility is expressed as the argument of 7 again, which stems
from the steady states for wealth. Then the optimality conditions are

CoAt = Uz'(\)At

C,At = UG! (% ()\—nAt)) At
OyAt = UG! (% ()\—nAt)> At
Wy = V' (n)

W, = V' (n <%“ (A— nAt)>)
Wy = V' (n (% (A — nAt)D ~

Since Wy = CoAt + WS, Wy = UEI()\)At + Vm_/l(n)-

4 Numerical Example

In this section, we show numerical examples for the multi-period problem stated above.
We assume the following utility functions: the CRRA utility for consumption and the
HARA utility for wealth such that

Cl-m
uce) =
©) L—m
a Alf'yg
V(e = 5-% (A>0,e>0).
-2

Note that the problems becomes similar to the Merton problem as £ — 0.

13



4.1 A Four Period Example

For the simplification of exposition, we remind the two period example for a while.
With the two utility functions above, the pricing equation becomes

o) Pu
R
Pda
R

1

(So-mman) " (2(&a-nan)) " -4

(% (h— nO(A)At)) o (é (% (3 — o A)At)))_% iy

—v2

Even though the 7, is a functional, we can try a numerical iteration to find the
numerical value of 7y if it converges to some finite numerical value. Then we need to
set a candidate for the initial 779. In Merton problem, the optimal consumption is affected
by wealth and the marginal propensity to consume. Applying to our example,

L W
VW1(77>
= V') = UG

where . .
pP=r _71(712— ) g2
M 2 i

is the marginal propensity to consume and 6 = £ is the market price of the risk. We

use this ) as the initial guess for ny given \. We calculate the stock investment at period
0as A = %. With this implementation, we get the numerical values for the optimal
solutions and the marginal utilities for a four period problem.

Before to examine the optimal solution, we need to verify whether the numerical value
converges. Figure (1) shows that the 79 converges for a four period example. We compare
the optimal solutions with the ones from Merton problem. Figure (3) shows an intuitive
result that an agent who has a direct utility from his wealth exhibits a decreasing marginal
propensity to consume and an increasing marginal propensity to invest in the risky assets
compared to the one from Merton problem. From Figure (4), we can see the optimal
wealth at the ‘best’ state of the wealth dynamics at terminal period converges to zero
as the number of period increases. This is an intuitive result since even though there is
utility of wealth during the lifetime, the utility does not dominate at the end.

K=r+
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Figure 5: Infinite horizon example, Convergence of 1 by increasing iteration

4.2 Infinite Horizon Example

For an infinite horizon problem, we have

e {% (% = n()\)At)) _% At + (én <5— = n(A)At)))_”g A

s
% (% (A— n(A)At))_Vll At + (én (% (A —=n( A)At)»_é —Al+ A}_w =

We use the same method to get the numerical 1 as the finite horizon problem. Note that
the initial guess for n is same for both the finite horizon problem and the infinite horizon
problem in our example since the utility function of consumption is CRRA utility function
and there is no bequest function for the finite horizon problem. We refer to the literature
for details.

Figure (5) shows the convergence of 7. Figure (7) shows the same result as the one
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from the finite horizon example.

5 Conclusion

In this study, we question the reason for the wealth accumulation. The accumulation
is easily observed in the real world especially about the rich. We set up a continuous time
optimization problem with a direct utility from wealth during the lifetime. We formulate
the problem by using both Stochastic Mazimum Principle and a Martingale Method,
and we find the optimality conditions. We show the two approaches are equivalent to
solve the problem. For numerical examples, we solve multi-period problems for finite
horizon and infinite horizon by discrete time approximation. The results of our examples
show that an agent whose a utility of wealth exhibits a decreasing marginal propensity to
consume(MPC) and an increasing marginal propensity to invest in the risky assets(MPIR),
which is consistent with empirical evidence.

19



References

1]

2]

[10]

Max Weber (1905), “The Spirit of Capitalism”, The Protestant Ethic and the Spirit
of Capitalism, Chapter 2, 1905

G.S. Bakshi and Z. Chen, “The Spirit of Capitalism and Stock-Market Prices”, Amer-
ican Economic Review, 86(1), 133-157

Gary Becker (1974), “A Theory of Social Interactions,” Journal of Political Economy
82, 1063-1093

Jean-Michel Bismut (1978), “An Introductory Approach to Duality in Optimal
Stochastic Control”, STAM Review, 1978, Vol. 20, No. 1, pp. 62-78

Christopher D. Carroll (2002a), “Why Do the Rich Save So Much?” Does Atlas
Shrug? Economic Consequences of Taxing the Rich Ch. 14, edited by Slemrod, The
Russell Sage Foundation, 465-484

Christopher D. Carroll (2002b), “Portfolios of the Rich” Household Porfolios , edited
by L. Guiso, M. Haliassos, and T. Jappelli, The MIT Press, 389-430

Christopher D. Carroll (1997), “The Buffer-Stock Saving and the Life Cy-
cle/Permanent Income Hypothesis”, Quarterly Journal of Economics, CXII(1), 1-56

K. E. Dynan, Skinner, and S. P. Zeldes (1996), “Do the Rich Save More?”,
Manuscript, University of Michigan

Robert C. Merton (1969), “Lifetime Portfolio Selection Under Uncertainty: The
Continuous-Time Case”, The Review of Economics and Statistics, Vol. 51, No. 3,
August, 1969, 247-257

H.F Zou (1994), “The ‘Spirit of Capitalism’ and Long-Run Growth”, Furopean Jour-
nal of Political Economy, 10(2), 279-93

20



	Introduction
	Stochastic Maximum Principle
	A Martingale Approach
	A Two Period Model
	A Three Period Model
	A Four Period Model
	An Infinite Horizon Model

	Numerical Example
	A Four Period Example
	Infinite Horizon Example

	Conclusion

